A Discussion on Primitive Pythagorean Triples and Primitive Pythagorean Primes

Duvvuri Surya Rahul and Snehanshu Saha

Abstract. There are many methods available to obtain Pythagorean triples (PT). The general observation shows that most of them do not produce all the Primitive Pythagorean Triples (PPT) or they produce all triples but with repetition. This paper highlights a structured approach to finding all PPTs and subsequently all triples, such that there is no repetition in the triples. In the process, an interesting relation between the sum of lengths of the legs of a primitive right triangle with prime numbers is established. Later, a Fundamental Theorem of Primitive Pythagorean Primes (PPP) is conjectured, which is in many ways similar to the Fundamental Theorem of Arithmetic, along with interesting propositions on PPPs derived from r=1 condition.

1. Introduction

A PT [1] is a set of *a*, *b*, $c \in Z^+$ such that $a^2 + b^2 = c^2$. A PT is called a PPT, if *a*, *b*, *c* are relatively prime. The most general formula to compute PTs, the Euclid's method, states that, $\forall m, n, k \in Z^+$ and m > n, (a, b, c) forms a PT, where $a = k(m^2 - n^2)$, b = kmn, $c = k(m^2 + n^2)$. But this method duplicates the PTs, as we could see for k = 1, m = 9, n = 3, k = 9, m = 3, n = 1 and k = 18, m = 2, n = 1, the PTs generated are (72, 54, 90), (54, 72, 90) and (54, 72, 90) respectively.

Only a few algorithms exist to find all the PPTs and PTs without repetition. The first to show this was F J M Barning [2], who developed three matrices, such that when any of the three matrices is multiplied on the right by a column matrix such that the elements of the matrix form a PT, then the result is another column matrix whose elements are a different PT. If the initial input is a PPT, then the result is also a PPT. Thus each PPT could generate three PPTs. All PPTs are produced this way from the PPT (3, 4, 5), and no PPT appears more than once. A different tree was found by Price [3] which again uses three matrices to produce triples.

There are a few other methods to produce all PPTs, like the method which uses Euclid's formula for generating all PPTS [4] and Mitchell's formula [5] which makes use of two parameters to generate the tree of triples. The results obtained from these methods become identical to the tree produced from Barning's method. William J Spezeski [6] recently presented a method which generates all triples exactly twice without repetition.

Though the methods used in obtaining ternary trees generate all the PPTs and also without repetition, but the fate of obtaining a PPT, depends on another PPT. i.e. we cannot obtain an individual PPT (referred to as spigot PPT). The formula discussed below is capable of generating all the PPTs individually without repetition based on integer parameters. Also, the classification of PPTs, as per the PPT table, allows us to explore and study wide range of properties adhered to PPTs. There are several analytical and numerical methods [11] for estimating prime numbers. Veracity and eloquence of such concepts and proofs motivated the work documented in this paper.

2. A Structured Approach

An approach in the area of PTs shows that all the primitive triples without repetition can be found by the relation between the even leg and the hypotenuse. Hence a formula has been devised based on the following PPT table and observations.

Throughout the paper, let us assume that \forall PPTs [*a*, *b*, *c*], *a* = odd leg, *b* = even leg, *c* = hypotenuse (Fig. 1).



Fig. 1. Right angled triangle.

Theorem 2.1. *The difference in lengths of hypotenuse* and the even leg in a PPT should always be equal to $(odd number)^2$.

Proof. Let l = (2k - 1) be an odd number $\forall k \in Z^+$

$$\Rightarrow c - b = l$$

$$\Rightarrow \sqrt{a^2 + b^2} - b = l$$

$$\Rightarrow \sqrt{a^2 + b^2} = b + l$$

$$a^2 + b^2 = b^2 + 2bl + l^2$$

$$\Rightarrow a^2 - l(2b + l)$$

squaring,

$$a^{2} + b^{2} = b^{2} + 2bl + b^{2} = l(2b + l)$$
$$\Rightarrow a^{2} = l(2b + l)$$
$$\Rightarrow a = \sqrt{l(2b + l)}$$

since LHS $\in Z^+$, RHS $\in Z^+$

$$\Rightarrow \sqrt{l}\sqrt{2b+l} \in Z^+$$

$$\Rightarrow \sqrt{l} \in Z^+$$

 $\sqrt{2b+l} \in Z^+$ $\Rightarrow l = j^2$

where, j is an odd number. In other words, $l = (2k - 1)^2$, so that l is the square of an odd number.

Based on Theorem 1, the PPTs were classified and the following PPT table was obtained.

2.1. PPT table

	r = 1	<i>r</i> = 2	<i>r</i> = 3	r = 4	<i>r</i> = 5
<i>s</i> = 1	(3,4,5)	(15,8,17)	(35,12,37)	(63,16,65)	(99,20,101)
<i>s</i> = 2	(5,12,13)	(21,20,29)	(45,28,53)	(77,36,85)	(117,44,125)
<i>s</i> = 3	(7,24,25)	(27,36,45)	(55,48,73)	(91,60,109)	(135,72,153)
<i>s</i> = 4	(9,40,41)	(33,56,65)	(65,72,97)	(105,88,137)	(153,104,185)
<i>s</i> = 5	(11,60,61)	(39,80,89)	(75,100,125)	(119,120,169)	(171,140,221)
<i>s</i> = 6	(13,84,85)	(45,108,117)	(85,132,157)	(133,156,205)	(189,180,261)
<i>s</i> = 7	(15,92,93)	(51,140,149)	(95,168,193)	(147,196,245)	(207,224,305)

and

2.2. Derivation

In order to obtain a general formula to represent all PPTs, let us first obtain a representation for *a*, the odd leg.

Let $a_{r,s}$ denote the odd leg corresponding to column r and row s of the PPT table. Consider the first row of the PPT table.

Let 3, 15, 35, 63, 99... be denoted by a series $S_{r,1}$ as:

$$S_{r,1} = 3 + 15 + 35 + 63 + 99 + \dots a_{r,1}.$$

Now,

$$S_{r,1} = 3 + 15 + 35 + 63 + 99 + \dots a_{r,1} \tag{1}$$

$$S_{r,1} = 3 + 15 + 35 + 63 + 99 + \dots a_{r,1}$$
 (2)

$$\Rightarrow 0 = 3 + 12 + 20 + 28 + 36 + \dots (a_{r,1} - a_{r-1,1}) - a_{r,1}$$
$$\Rightarrow a_{r,1} = 3 + 4(3 + 5 + 7 + 9 + \dots (2r - 1))$$
$$\Rightarrow a_{r,1} = 3 + 4(1 + 3 + 5 + 7 + 9 + \dots (2r - 1) - 1)$$
$$\Rightarrow a_{r,1} = 3 + 4(r^2 - 1).$$
(3)

As we traverse down any column, we can find that $a_{r,s} = a_{r,s-1} + \tau$, where $a_{r,s} \in \text{row } s$, $a_{r,s-1} \in \text{row}$ s-1 of the prescribed column and τ , the constant difference between them. Clearly,

$$a_{r,s} = a_{r,1} + (s-1)\tau.$$
(4)

Also $\tau = 2(2r-1)$, which can be obtained by solving the series 2, 6, 10, 14... for the *r*th term. Therefore from (3) and (4) choose, $a = 4r^2 - 1 + 2(2r - 1)(s - 1)$.

Theorem 2.2. $\forall s \in multiples of prime factors$ of (2r - 1), the PTs obtained at s have a highest common factor which is the square of the prime factor whose multiple is taken by s. i.e. Let $2r - 1 = \omega_0^{\alpha_0} \omega_1^{\alpha_1} \omega_2^{\alpha_2} \cdots \omega_k^{\alpha_k} \cdots \omega_n^{\alpha_n}$ be the prime factorization of 2r - 1. If $s = m\omega_k, m \in$ Z^+ then at s, the highest common factor of PT $(a, b, c) = \omega_k^2$.

Proof. We know that,

$$a = 4r^2 - 1 + 2(2r - 1)(s - 1).$$

When $s = m\omega_k$,

$$a = 4r^2 - 1 + 2(2r - 1)(m\omega_k - 1)$$
$$= (2r - 1)(2r + 1) + 2(2r - 1)(m\omega_k - 1)$$

- $= (2r-1)[(2r+1) + 2m\omega_k 2]$
- $= (2r 1)[(2r 1) + 2m\omega_k]$
- $=(\omega_0^{\alpha_0}\omega_1^{\alpha_1}\omega_2^{\alpha_2}\cdots\omega_k^{\alpha_k}\cdots\omega_n^{\alpha_n})$

$$\times [\omega_0^{\alpha_0} \omega_1^{\alpha_1} \omega_2^{\alpha_2} \cdots \omega_k^{\alpha_k} \cdots \omega_n^{\alpha_n} + 2m\omega_k]$$

$$= \omega_k^2 (\omega_0^{\alpha_0} \omega_1^{\alpha_1} \omega_2^{\alpha_2} \cdots \omega_k^{\alpha_k - 1} \cdots \omega_n^{\alpha_n})$$
$$\times [\omega_0^{\alpha_0} \omega_1^{\alpha_1} \omega_2^{\alpha_2} \cdots \omega_k^{\alpha_k - 1} \cdots \omega_n^{\alpha_n} + 2m]$$

 $\Rightarrow a = \omega_k^2 \beta$

where, $\beta = (\omega_0^{\alpha_0}\omega_1^{\alpha_1}\omega_2^{\alpha_2}\cdots\omega_k^{\alpha_k-1}\cdots\omega_n^{\alpha_n}) \times [\omega_0^{\alpha_0}\omega_1^{\alpha_1}\omega_2^{\alpha_2}\cdots\omega_k^{\alpha_k-1}\cdots\omega_n^{\alpha_n} + 2m]$. Similarly, *b* and *c* also will have a common factor ω_k^2 .

Note: When $s = m\omega_k^2 = q\omega_{k+\theta}^2$, $\theta \in Z^+$, then clearly, $\omega_{k+\theta}^2$ is the highest factor of PT (*a*, *b*, *c*).

2.3. Observations

1. We could spot the appearance of nonprimitive PTs at some positions of the PPT table. These positions correspond to the value of *s* becoming equal to multiples of prime factors of 2r - 1. By restricting *s* at these values, we can obtain a PPT formula and beyond reasonable doubt a PT formula, which produces all PPTs and PTs without repetition.

Based on the above theorems, derivations and observations the formula is obtained.

3. Formula

$$\forall, \quad \phi = 4r^2 - 1 + 2(2r - 1)[s - 1]$$

where,

 $r\in Z^+$

 $s \in Z^+$ - {multiples of prime factors of 2r - 1}. The PPTs [*a*, *b*, *c*] are:

$$\left[\phi, \frac{\phi^2 - (2r-1)^4}{2(2r-1)^2}, \frac{\phi^2 + (2r-1)^4}{2(2r-1)^2}\right].$$

All the possible PTs can be found out without repetition by adding a multiplier to the above formula like this: The PTs [a', b', c'] = m[a, b, c] are:

$$m\left[\phi, \frac{\phi^2 - (2r-1)^4}{2(2r-1)^2}, \frac{\phi^2 + (2r-1)^4}{2(2r-1)^2}\right]$$

where, $m \in \mathbb{Z}^+$.

Proof. By definition,

$$a^2 + b^2 = c^2$$

from Theorem 1, we know that
$$c = b + (2r - 1)^2$$

$$\Rightarrow a^{2} + b^{2} = b^{2} + 2b(2r - 1)^{2} + (2r - 1)^{4}$$
$$\Rightarrow a^{2} = 2b(2r - 1)^{2} + (2r - 1)^{4}$$
$$\Rightarrow b = \frac{a^{2} - (2r - 1)^{4}}{2(2r - 1)^{2}}$$
$$c = b + (2r - 1)^{2} = \frac{a^{2} + (2r - 1)^{4}}{2(2r - 1)^{2}}.$$

Hence, replacing *a* by ϕ , the complete PPT is found.

3.1. Other form

The other way of expressing the above formula is, the PPTs [*a*, *b*, *c*] are:

$$[4r^2-1+2(2r-1)(s-1), 2s(2r+s-1), 2s(2r+s-1)+(2r-1)^2]$$

where,

 $r\in Z^+$

 $s \in Z^+$ - {multiples of prime factors of (2r - 1)}. The Pythagorean Triples [a'b', c'] = m[a, b, c] are:

$$m[4r^{2} - 1 + 2(2r - 1)(s - 1), 2s(2r + s - 1),$$
$$2s(2r + s - 1) + (2r - 1)^{2}]$$

where, $m \in Z^+$.

3.2. Verification

To verify the correctness of the formula, the following examples are considered.

- 1. Example 1: r = 1, s = 1, $m = 1 \iff (3, 4, 5)$
- 2. Example 2: r = 1, s = 1, m = 7 (*multiplier*) \iff (21, 28, 35)
- 3. Example 3: r = 3, s = 4, $m = 1 \iff (65, 72, 97)$
- 4. Example 4: r = 5, s = 3. Here, value of s is invalid, s cannot be equal to 3. s must not be equal to multiples of prime factors of (2r−1). Here (2r − 1) = (2(5) − 1) = 9. Prime factors of 9 is 3. Hence s in this case must not be equal to 3 or multiples of 3.
- 5. Example 5: r = 12, s = 23, m = 4 (multiplier). Here, value of *s* is invalid, *s* cannot be equal to 23. *S* must not be equal to multiples of prime factors of (2r - 1). Here (2r - 1) =(2(12) - 1) = 23. Prime factors of 23 (prime factor of a prime number is the number itself) is 23. Hence *s* in this case must not be equal to 23 or multiples of 23.
- 6. Example 6: r = 17, s = 29, m = 3 (multiplier) \iff (3004, 3596, 4685).

The new set of formulae produce all the PPTs and of course all the PTs, without repetition. PPTs can be used in cryptography as random sequences and for the generation of keys. Also by including all values for *s*, i.e. by making $s \in Z^+$, we can obtain a dynamically changing pattern/code for extremely high security, apart from that, the triples are now better classified/organized for study as can see from the following properties.

4. Two Prime Entries

In any PPT one of the three entries must be even, while the other two entries namely, hypotenuse and the odd leg must be odd. Since the later entries are odd, there is a chance that both the entries could be prime numbers. Also it is conjectured that there are infinitely many such instances wherein both, the odd leg and the hypotenuse are prime numbers [7]. By Schinzel and Sierpinski's Hypothesis H [8] we then expect to see infinitely many triples with two prime entries.

Theorem 4.1. All the PPTs, wherein both, the odd leg and the hypotenuse are prime numbers must fall in the first column of the PPT table. i.e. If r = 1, then $\forall s \in Z^+$, we can find infinitely many two prime entries. And it is impossible to find a two prime entry $\forall r \neq 1$.

Proof. The PPTs $\forall r = 1, s \in Z^+$ - {multiples of prime factors of 2r - 1} are

$$[a, b, c] = (2s + 1, 2s(s + 1), 2s(s + 1) + 1).$$

The odd leg 2s + 1 may or may not be a prime number.

The PPTs $\forall r \in Z^+$, $s \in Z^+$ {multiples of prime factors of 2r - 1} are:

$$\left[\phi, \frac{\phi^2 - (2r-1)^4}{2(2r-1)^2}, \frac{\phi^2 + (2r-1)^4}{2(2r-1)^2}\right]$$

where,

$$\phi = 4r^2 - 1 + 2(2r - 1)[s - 1].$$

Here,

$$\frac{\phi}{2r-1} = 2(r+s) - 1 \in Z^+$$

Hence, $\forall r \neq 1$, there cannot be a two prime entry.

Theorem 4.2. All the PPTs, where $a^2 + b^2 = c^2$ and $b + c = a^2$, must lie in the first column of PPT table.

Proof. From the equations, $a^2 + b^2 = c^2$, $b + c = a^2$, we have (b + c)[1 + (b - c)] = 0. Since sides cannot be negative, $b \neq -c$, so, c - b = 1. Hence, proved.

5. Primitive Hypotenuse Proposition

Proposition 5.1. Let t = 2r - 1, $r \in Z^+$, then t is prime, iff

$$\sum_{s=1}^{\infty} [t(2s+t) + 2s^2] = \sum_{k=1}^{t-1} (ik)^2$$

where, $s, k \in Z^+$; $i = \sqrt{-1}$.

Proof. From 3.1, we know that any hypotenuse of a PPT could be represented by the formula $c = 2s(2r + s - 1) + (2r - 1)^2$, $r, s \in Z^+$, $s \neq$ multiples of prime factors of 2r - 1. Clearly,

$$c = 2s(2r + s - 1) + (2r - 1)^{2}$$

$$\Rightarrow c = s^{2} + s^{2} + 2s(2r - 1) + (2r - 1)^{2}$$

$$\Rightarrow c = s^{2} + [s + (2r - 1)]^{2}.$$

Now consider t = 2r - 1 and $c_r = \sum_{s=1}^{\infty} c_s s \neq$ multiples of prime factors of 2r - 1 where, c_r denotes the sum of all the Primitive hypotenuses belonging to column r of the PPT table. For instance, $c_1 = 1^2 + (2)^2 + 2^2 + (3)^2 + 3^2 + (4)^2 + \cdots$ and $c_2 = 1^2 + (4)^2 + 2^2 + (5)^2 + 4^2 + (7)^2 + \cdots$. Before proceeding further, it is to be noted that if t is prime, then $t = \omega_0$ (from Theorem 2) and if t is composite, then $\exists \omega_0$, such that $\omega_0 < t$. When we have t as a prime number, then

$$c = s^2 + [s+t]^2$$

and

$$c_r = 1^2 + 2^2 + 3^2 + \dots + \omega_0^2 + (\omega_0 + 1)^2 + \dots + (1+t)^2 + (2+t)^2 + (3+t)^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + (1^2 + 2^2 + 3^2 + \dots + 1^2 + 2^2 + 3^2 + \dots + 1)$$

$$\Rightarrow c_r = 0 + \dots + 0 + \dots - (1^2 + 2^2 + 3^2 + \dots t^2) - (t^2 + 2t^2[-1+0]).$$

Since, $\zeta(-2) = 0$, where ζ denotes the Riemann zeta function [9]. Therefore upon simplification,

$$c_r = -(1^2 + 2^2 + 3^2 + \dots (t-1)^2)$$

 $\Rightarrow c_r = \sum_{k=1}^{t-1} (ik)^2.$

Hence, proved.

6. Fundamental Theorem of PPP

The fundamental theorem of arithmetic [1] states that for every natural number n > 1, n is either a prime number or is composite such that it could be expressed as a product of prime numbers raised to suitable powers. For example, 3 is prime, whereas 6 is composite such that $6 = 2 \times 3$. Consider the complete set of odd numbers 2s + 1, $s \in Z^+$. This could be written as $2(s+1)^1 - 1$. It has to be noted that, any number of this sequence is either prime or is composite such that its prime factors again belong to the same sequence. For instance, if we consider s = 3, we have 2(3 + 1) - 1 = 7, which is prime and it belongs to the sequence. Now consider s = 4, we have 2(4 + 1) - 1 = 9, which is composite. The prime factors of 9 is 3, which again belongs to the same sequence.

Let P = a + b, where a and b are the odd leg and even leg of a PPT respectively. If P is prime, then it is termed as a Primitive Pythagorean Prime (PPP). The fundamental theorem of arithmetic obviously holds for PPPs. The interesting thing is that if Pis not a prime number, then it is expressible as the product of prime numbers raised to suitable powers which are all again PPPs.

6.1. Conjecture 1

It is conjectured that, every *P* is either a prime number, or is a composite number which could be expressed as a product of PPPs. i.e. consider the complete set of P = a + b, which could be represented as, $2[r+(2s-1)]^2-(2s-1)^2$, $r \neq$ multiples of prime factors of 2s - 1. It is conjectured that every number of this sequence is either prime or could be expressed as the product of prime factors raised to suitable powers such that the prime factors in turn belong to the same sequence. The same property is satisfied by the set of odd numbers and the set of natural numbers and also by the followed sequences:

 $\delta_1 = |a \pm b| - \{1\} \\ \delta_2 = |a \pm 2b| - \{1\}$

$$\delta_4 = |a \pm 4b| - \{1\}$$

$$\delta_5 = c$$

where, *a*, *b*, *c* are the odd leg, the even leg, and the hypotenuse of a PPT respectively.

It is not known if more of such sequences exist or not which produce numbers having unique prime factorization and also that the prime factors belonging to the same sequence, ignoring the elementary sequence generated by p^k , where p is a prime number raised to an integer k.

Proposition 6.1. Consider all PPTs whose hypotenuse and even leg differ by a unit length. i.e. consider all PPTs, corresponding to r = 1, $s \in Z^+$ (column one of PPT table). For any value of s, there cannot be more than three consecutive PPPs, i.e. the maximum number of PPPs associated with s in sequence is three OR if s yields a PPP, and if s + 1 yields a PPP, and if s + 2yields a PPP, then s + 3 cannot yield a PPP. Also,

$$s + 2 \equiv 0 \pmod{7}$$

i.e. $s + 2 \pmod{7} = 0$, or s + 2 is an integral multiple of 7.

Note: The only exception for divisibility by 7, is the set, s = 1, s + 1 = 2, s + 2 = 3.

Proof. When we consider the first column of the PPT table, the PPPs belonging to this column will be $P = 2(s+1)^2 - 1$. Let us say that *P* is not a prime and has 7 as a prime factor. In that case let,

$$P/7 = x$$

then clearly,

$$s = \left(\frac{7x+1}{2}\right)^{\frac{1}{2}} - 1.$$

Solving RHS to obtain $s \in Z^+$, one can observe that we obtain s = 1, 4, 8, 11, 15, 18, 22, 25, 29... so $\forall s$ taking the values of the preceding sequence, we can affirmatively say, that *P* will not be prime and also that *P* has a prime factor 7. As we can see, this sequence could be split and represented as 1 + 7s and 4 + 7s. Therefore, we could conclude that the maximum number of PPPs that could occur together can never be more than 3. And also, wherever the three PPPs occur together, the value of *s* corresponding to the third PPT is a multiple of 7.

Proposition 6.2. Consider the first column of the PPT table. The sum of the values of s corresponding to which P encounters the first two occurrences of a prime factor G must be equal to G - 2.

Proof. Given, $2(s_1+1)^2 - 1 = P_1$ and $2(s_2+1)^2 - 1 = P_2$. Let

$$P_1 \equiv 0 \pmod{G}.$$

Need to show that at s = G - 2 - s1,

$$P_2 \equiv 0 \pmod{G}$$

$$P_2 = 2(s_2 + 1)^2 - 1$$

$$\Rightarrow P_2 = 2(G - 2 - s_1 + 1)^2 - 1$$

$$= 2(G - (s_1 + 1))^2$$

$$= 2G^2 - 4G(s_1 + 1) + 2(s_1 + 1)^2 - 1$$

$$= 2G^2 - 4G(s_1 + 1) + P_1.$$

Therefore, *G* divides P_2 . Hence proved. Also it is evident that at $s = s_1 + hG$ and $s = s_2 + hG$, $h \in Z^+$

$$P \equiv 0 \pmod{G}.$$

7. Conclusion

We have seen a structured approach for obtaining all the PPTs without repetition using a PPT table. This approach has made it easy for us to explore various properties of PPTs. We were able to grasp the conjecture on the PPPs which could be of much use in the future considering their close resemblance with the properties of positive integers subject to Fundamental Theorem of Arithmetic.

References

- [1] D. E. Joyce, *Book X, Proposition XXIX* (Euclid's Elements, Clark University, 1997).
- [2] F. J. M. Barning, About Pythagorean and near-Pythagorean triangles and a generation process using matrices unimodulaire (in Dutch), *Math. Centrum Amsterdam Afd. Zuivere Wisk. ZW-011* **37** (1963).
- [3] H. L. Price, The Pythagorean Tree: A New Species, arXiv:0809.4324 (2008).
- [4] R. A. Saunders and T. Randall, The family tree of the Pythagorean triplets revisited, *Mathematical Gazette* 78 (1994) 190–193, JSTOR 3618576.
- [5] D. W. Mitchell, An alternative characterisation of all primitive Pythagorean triples, *Mathematical Gazette* 85 (2001) 273–275.
- [6] J. S. William, *Rethinking Pythagorean Triples* ISSN: 1932-9466.
- [7] P. Ribenboim, *The New Book of Prime Number Records*, 3rd edition (Springer-Verlag, New York, NY, 1995), pp. xxiv+541, ISBN 0-387-94457-5. MR 96k:11112.
- [8] A. Schinzel and W. Sierpinski, On certain assumptions concernment primes (in french).
- [9] H. M. Edwards, *Riemanns Zeta Function* (Academic Press, 1974).
- H. Euclid and L. Thomas (translated into English), The thirteen books of the Elements, 2 (Books III-IX) (Second Edition Unabridged ed.) (New York: Dover, 1956), ISBN 978-0-486-60089-5.
- [11] A. Mushtaque and S. Snehanshu, Estimating the number of prime numbers less than a given positive integer by a novel quadrature method: A study of accuracy and convergence, ICACCI-IEEE, ISBN 978-1-4799-3078-4, pp. 415–421.



Duvvuri Surya Rahul

Duvvuri Surya Rahul is from India presently pursuing Bachelor of Engineering in Computer Science. He won several accolades and prizes for various competitions including Chess conducted at Schooling and College level. He bagged third position in National level competition conducted for Abacus. His special interests are solving problems in competitive aptitude and mathematics with innovative ideas and analytical approach.



Snehanshu Saha

Snehanshu Saha, PhD was born in India, where he completed degrees in Mathematics and Computer Science. He went on to earn a Masters degree in Mathematical Sciences at Clemson University and PhD from the Department of Mathematics at the University of Texas at Arlington in 2008. After working briefly at his alma matter, Snehanshu moved to the University of Texas El Paso as a regular full time faculty in the department of Mathematical Sciences, where he taught Differential Equations, Advanced Calculus, Linear Algebra and Computational Mathematics. He is a Professor of Computer Science and Engineering at PESIT South since 2011 and heads the Center for Basic Initiatives in Mathematical Modeling which has five PhD students and about twenty undergraduate research assistants. He has published 35 peer-reviewed articles in International journals and conferences and has been on the TPC of several IEEE R10 conferences. He's been IEEE Senior Member and ACM professional member since 2012.